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f// BEzAEN

public class Sample4_1
{
public static void main(String[] args)
{
/] BHEE CHIHEE
int numl = 15;
int num2 = 3;

// numl & num2 DUORIGTE
int add;

add = numl + num2; T8 x TIEEL

int sub; * (PARUANY ZfBNE T
sub = numl - num2;

int mul; D& + TEIEL

mul = numl * num2; / (A1) &BNET

int div;

div = numl / num2;

// ETEHBRDOEND

System.out.println("fE" + numl + "&" + num2 + "OUOEIFTE : ");
System.out.println("#0 = " + add);

System.out.println("Z = " + sub);

System.out.println("f& = " + mul);

System.out.println("& = " + div);

\J

S RIEE]

(1@ 15 & 3 DUUEIETE .
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> "Hello" & DXFFIUF SILIE string HEBBSNFET

Yo moo-rERFTEE, BOLSCHASNET

System.out.println("ABC" + "DEF"); - ABCDEF
System.out.println("ABC" + 50); > ABC50
System.out.println(20 + 50); > 70
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(/) BsH=8DETOTS A

import java.io.*;

public class Sample4 2

O0+0=0w (O

{
public static void main(String[] args) throws IOException
{
/] F—TR— R
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in,"Shift-JIS"));
/] BERBDZE
int numl, num2, tmp;
int div; /1B
int mod; /RO
/! BEDAN
System.out.println("#EIRNETEIDEH#¥N2 DOEHEADLUTCLIIZSV) ");
System.out.println("1 DEDOEHZANDLTCLIIES0, ");
numl = Integer.parselnt(br.readLine( ));
System.out.println("2 DEDEHZANDLUTCLIIES0, ");
num2 = Integer.parselnt(br.readLine( ));
/] BROEE )
mod = numl % num2; // %IRDEFTEITDIEET
/] BOE
tmp = numl - mod;
div = tmp / num2;
/] FEROES
System.out.println("=N" + numl+"+" + num2 + "=" + div + "RO" + mod);
}
}
. J
ETEmE
[ msnannEy )
2 DDEHEANDLUTESN,
1 DBDEBHEADLTIZESL,
11
2 DBEDEHEADLTIZSL),
4
kﬁ 11:4=2 R0 3 y
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(1) a8 - &Y DX
public class Sample4 3

{

public static void main(String[] args)

{
/] BHDOES CHERE
int a1l = 0, a2 = 0;
int b =0, c = 9;
System.out.println("al=" + al);
System.out.println("a2=" + a2);
// BIE « BET VDXV FDEN
b = al++;
C = ++a2;
System.out.println("f&E& « BIE1 VDXV FZLET");
System.out.println("&&-1 22 'J X (b=al++;) b=" + b);
System.out.println("BI&1 V2D 'J X k(c=++a2;) c=" + c);
System.out.println("al=" + al);
System.out.println("a2=" + a2);
// BIRTRNDE 118X DICT
al++;
++a2;
System.out.println("S8JRTRE « BIE1 VDV IUXY EETEEIT");
System.out.println("EBE& VO UXT L al++; ");
System.out.println("BIE1 VO UXU L ++a2; ");
System.out.println("al=" + al);
System.out.println("a2=" + a2);

}

\}
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o rAssToESERORE LT
int n;

System.out.println(n = 10);
ETBDE. 10 NBEICENDSINET

Vo Bnostic, BuERLEMERBRTZCEETEET
int n = 5;

n=n+ 2;

System.out.println(n);
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o EetErAEETOREEROEIE LT

int n = 5;
System.out.println(n += 10);
EIDE 15 A BAEICHEDASINET

Vo Bnostic, BuERLEMERBRTZCEETEET

int n = 5;

n += n;

System.out.println(n);
EIDE. 10 DN BEICEDSINET
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V—=23— R4l
V=T 7+ )U% : Sampled_4.java
(1) wetaramET EE ELE IS )
public class Sample4 4
{
public static void main(String[] args)
{
int sum = @; // #FtRADZEH. O THEIE
/] MEBARBDX Y-
System.out.println("3 DDEHDIEETEZRDET, ");
System.out.println("1 DBDEHII 3");
sum += 3;
System.out.println("2 DEDOEHII5");
sum += 5;
System.out.println("3 DEDOEHII 2");
sum += 2;
// FETDRI
System.out.println("#85t[&" + sum + "TT, ");
}
. J
ETEH
(3 SommomstERDED, A
1 DBDEHIT 3
2 DBDEHII 5
3 DEOEHIL 2
kﬁﬁﬁl@Tgo J
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r'// VI RNE&
public class Sampled4 5
{

public static void main(String[] args)

{

int i = 2, ans;

/] VD~ EEH

ans = i< 1; // 1By kRAEN (218
System.out.println(ans);

ans =i > 1; // 1EvwREGA (0. 5)

System.out.println(ans);
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( A A
/] VD NBEOEE
public class Sample4_6
{
public static void main(String[] args)
{
int i;
short num = 5;

/7 Ev RAIED
System.out.print("Y I kET ");
for(i = 0; 1 < 16; i++)
System.out.print(exeeel & (num >> (15 - i)));
System.out.println("(b)");

/] VD REBEER
num <<= 2;

/1 Ev RSB
System.out.print("Y 7 & ");
for(i = 0; 1 < 16; i++)
System.out.print(0xee01 & (num >> (15 - i)));
System.out.println("(b)");

}

.

XTEB

37 Bl 0000000000000101(b)
3D % 0000000000010100(b)
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